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—~ 1
Q =
S £ CMS — Observed limit (95% C.L.)
= c e Median expected
2 L I 68% expected
Q S ] 95% expected
X 107 '~:\' ----- TT production, B(bW)=1.0
. - S
107 =
107 T T B D T D D
800 900 1000 1100 1200 1300 1400 1500 1600
m; [GeV]
35.8 (), 35.6(e) b (13 TeV)
[
5 10— ~MS —— Data
P - [ tt +jets
‘g 8ol [ Other backgrounds
> - w e TT, m, =1300GeV x 10
w B % '
60—
o B w7
C - Tz i :
20 % ;
ok U T S e BT e .
o of ¢ =
D 155 E
S i %fw%%’% ///%/@
O 0.5 i i 3 ;
i 2 1 O P R A B S EE
20 200 600 800 1000 1200 '1400 18601800

Moo [GEV]



